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R o | BT e | B2 | e | o e | B2 | B TR e | B2 | T | & | T
’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 294 37.99| =nList = R - - - s 1.00f 500 ~ 5.50 37.99| =nList = e - - =
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 3.82 48.00| Z=#LList |0.00 ~ 3.82| 2.12 11.36 s 1.00f 500 ~ 5.00 48.00| =nkist | 500 ~ 5.00] 2.12 11.36
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 4.70 58.60| = Llst |0.00 ~ 470 1.97 10.56 s 1.00f 500 ~ 5.50 58.60 =hLl4+ | 5.00 ~ 550 1.97 10.56
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
ZHnLs 1.00] 0.00 ~ 497 61.92 ZzhLlst | 000 ~ 497| 1.84 9.84 s 1.00f 500 ~ 5.40 61.92 =4t | 500 ~ 540 1.84 9.84
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00]0.00 ~ 429 53.57| #=h L4t |0.00 ~ 4.29| 1.99 10.66 s 1.00f 500 ~ 5.00 53.57| #hLl4+ | 500 ~ 500 1.99 10.66
7 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00/0.00 ~ 474 59.06) Zh L4t |0.00 ~ 4.74| 1.79 9.59 s 1.00f 500 ~ 5.00 59.06) =n L4t | 5.00 ~ 500 1.79 9.59
8 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 474 59.08| = Llst |0.00 ~ 0.00| 1.66 8.90 s 1.00f 500 ~ 5.00 59.08| #n L4t | 500 ~ 500 1.66 8.90
9 100kN/m##8 %% 1.00{ 0.00 ~ 3.65 159.05|3m%#% %] 0.00 ~ 1.93| 4.14 22.13| 100kN/m#%#8% % 1.00{ 11.95 ~ 41.30 159.05| 3m#*#% %] 20.00 ~ 41.30| 4.14 2213
s 1.00] 3.65 ~ 1143 100.00| Z+list 1193 ~ 11.43| 3.00 16.05 s 1.00f 500 ~ 11.95 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
10 100kN/m##8 %% 1.00{0.00 ~ 1.74 126.74| 3m%#% %] 0.00 ~ 1.35] 4.04 21.63| 100kN/m%#8% % 1.00{ 17.66 ~ 32.07 126.74| 3m%x#% %] 15.00 ~ 32.07| 4.04 21.63
s 1.00]1.74 ~ 953 100.00| #+list | 1.35 ~ 9.53| 3.00 16.05 s 1.00f 5.00 ~ 17.66 100.00f Z=hl4t+ | 5.00 ~ 1500 3.00 16.05
11 100kN/m##8% % 1.00{0.00 ~ 233 136.41|3m%x# %% 0.00 ~ 0.89 3.62 19.40| 100kN/m#%#B 2% 1.00{ 13.52 ~ 26.57 136.41| 3m%x#% %] 20.00 ~ 26.57| 3.62 19.40
s 1.00]2.33 ~ 10.12 100.00f Z=hLi9t | 0.89 ~ 10.12] 3.00 16.05 s 1.00f 500 ~ 13.52 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
12 100kN/mM%#BZ 5 -l -~ = -|3mEBZ 5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 7.66 98.19| Z=hLls |0.00 ~ 7.66| 2.51 13.43 s 1.00f 5.00 ~ 12.00 98.19( Z#h 4+ | 5.00 ~ 1200 2.51 13.43
13 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
ZHnLs 1.00]0.00 ~ 4.77 59.40| ZhLlst | 0.00 ~ 0.00] 1.69 9.06 s 1.00f 500 ~ 5.00 5940 Z#hLl4t | 500 ~ 500 1.69 9.06
14 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.29 78.98| #n L4t |0.00 ~ 6.29| 2.68 14.34 s 1.00f 5.00 ~ 10.21 78.98| #nLlst | 5.00 ~ 10.21| 2.68 14.34
15 100kN/m##8% % 1.00{ 0.00 ~ 2.08 132.24|3m%x# %% 0.00 ~ 0.11| 3.07 16.45| 100kN/m#%#B 2% 1.00{ 12.06 ~ 20.87 132.24| 3m%*x#% %] 20.00 ~ 20.87| 3.07 16.45
s 1.00]2.08 ~ 9.87 100.00f Zhklst |0.11 ~ 9.87| 3.00 16.05 s 1.00f 5.00 ~ 12.06 100.00f Z=hkl4t | 5.00 ~ 20.00f 3.00 16.05
16 100kN/m##8% % = =l ~ = -|3m%i#8 25000 ~ 0.76] 3.70 19.82| 100kN/m#%#B 2% = o ~ = -|3m%#8%5[15.00 ~ 21.76] 3.70 19.82
s 1.00/0.00 ~ 7.34 93.57| ThLst |0.76 ~ 7.34] 3.00 16.05 s 1.00f 500 ~ 21.76 93.57| =hblst | 500 ~ 15.00| 3.00 16.05

BTN



RUER D R IR R EGERE

B3 —2 FEMICERATHILBESNOERICETHEER 2/2) _ _ HEEE TERRI18ERE
SEfRHOAE | EES | 174A0197 | B4 FIHEE FRfE EFE—EmRILETRRF FIRE
) SERMO TinICHEET S ZEH A
ﬁg TREOBEBOSILEHOKRES TERFDOHBEEILNOKRES TEFEOBBOEILADKRES TREOHBESEILADKES
R o | BT e | B2 | e | o e | B2 | B TR e | B2 | T | & | T
17 100kN/m##8% % 1.00{0.00 ~ 0.24 103.54| 3m%#% %] 0.00 ~ 0.71] 3.64 19.46| 100kN/m#%#B 2% 1.00{ 22.60 ~ 24.57 103.54| 3m%*x#% %] 15.00 ~ 24.57| 3.64 19.46
s 1.00/0.24 ~ 8.03 100.00f =hkl4t+ |0.71 ~ 8.03] 3.00 16.05 s 1.00f 5.00 ~ 22.60 100.00f Z=hl4t+ | 5.00 ~ 1500 3.00 16.05
18 100kN/m##8 %% 1.00{0.00 ~ 2.18 133.86|3m%#%%| 0.00 ~ 0.98] 3.71 19.87| 100kN/m#%#B 2% 1.00{ 1456 ~ 28.09 133.86| 3m%*x#% %] 20.00 ~ 28.09| 3.71 19.87
s 1.00]2.18 ~ 9.97 100.00f Zhklst |0.98 ~ 9.97| 3.00 16.05 s 1.00f 5.00 ~ 14.56 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
19 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.08 76.18] =hLlst | 0.00 ~ 6.08] 1.93 10.34 s 1.00f 500 ~ 7.50 76.18| =hklst | 500 ~ 7.50[ 1.93 10.34
20 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
ZHnLs 1.00/0.00 ~ 7.28 92.77| #hLls |0.00 ~ 7.28| 2.51 13.41 s 1.00f 5.00 ~ 10.92 92.77| #hl4+ | 5.00 ~ 10.92| 2.51 13.41
91 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00/0.00 ~ 6.46 81.35| #nLls |0.00 ~ 6.46| 2.71 14.50 s 1.00f 500 ~ 11.05 81.35| #=n 4t | 5.00 ~ 11.05| 2.71 14.50
99 100kN/mM%#BZ % -l -~ = -|3mEBZ5 = ~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 o ~ = = =
s 1.00{0.00 ~ 3.02 38.82| #xlist |0.00 ~ 3.02| 2.34 12.54 s 1.00f 500 ~ 5.16 38.82| =nkist | 500 ~ 5.16| 2.34 12.54
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
ZFhst ~ st ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Zhst ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImEBAD ~
Fhst ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
Fhst ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
Fhst ~ st ~ FhLst ~ ZhLst ~ |
=EFR



